


On your paper draw a clock with blanks at the same numbers as shown
below.




12:00 Appointment

Name the following important

information.

Vertex: Min/Max
Axis of Symmetry /Line of Symmetry
X —

y-intercept:

x-intercepts:

X-intercept Form WS




3:00 Appointment

Find the answer of each problem.

L
1. ;zﬂ+342—5) + (10 —}é@sx‘f):%( /%’5
2 (B + %2) 7 35 + 21//) = - &x3+L\><%

3 (F+4)(2x*—x+1)

_ 3 ) L
%%ﬂzﬁ-%)ﬁ%ly“} = o7 £ B



4:00 Appointment

Using the function y = —(x + 5)? — 5 determine the following
information.

Vertex: ._§ ‘S> Min/qu (\(\ D\y

a.o. s/llne of symmetry: X =

T o Do

x-intercepts:

x-intercept form:



6:00 Appointment

Factor

1. x*> +9x + 20 2. 2x3 + 32x% + 128x
[ L\B(XJV§> 2 (P 3\ gy Lol
1) (x8)
3.3x*+8x + 4 4.m3 —m?+2m-—2
s A (1) 2 (e )

(mn242) (p0-1)



7:00 Appointment

Solve.
YEREER
1)x2+7x=0 2.)4x* —36=0 3.)6x2—§x\=%
(%)= 0 Y(*0) =320

. X =%
\ X=-7,0 | U(A)r) (x-gg?x%\

(3] (e

[ 3y-3)(3x+)




8:00 Appointment

Find the area of the rectangle.

me)fg




9:00 Appointment

Write an quadratic function in x-intercept form whose graph has the

following properties. X(X—k S} A/ Q —
x-intercepts: (0, 0) and ( -5,-0) and a point at ( -2, -4) \\5

—_ e \TBQ— H,A5= Lj



11:00 Appointment

A rectangle has a length of x inches and a width of 5 inches less
than the length. If the dimensions were doubled, find the area of
the new rectangle in terms of x.

P

d (2
= (% }@5




